A
F370 WAGNER

B Eh &R

),
B o\ &7\

[IC10021A

1
AR « i - MRS T ERKEET2HR/HVET, 2024.02



F370

A
WAGNER

POS S RE4 B SEAM fii 5
1 252450 [A ARV TRY 7 A 1 47,000

2 252430 |[Z—RR7Y T 1 7,300

3 252428 A AT —) 1 1,400

4 9922603 |[AFwv )Y 1 800[52 x 2

5 252429 |Niw 1 7,300

6 3057379 [0V V% 1 1,300

7 252431 |75 1 27,200

8 252282 |[£—%&—+tw b 1 190,000

9 252432 |[£—% 77> (1) 880

10 252433 |77 2 HR— (1) 3,400

11 340354 [HAH v b 1 2,600

12 252435 |14 3— 1 3,400

13 | 9960429 |HLua—F—X7VY Y 1 25,900

14 252305 =V FTL—Fk 1 3,800

15 1 R AT
16 | 9903204 |+F7Utlihal 9 210[M4 x 12
17 252452 |A AT — 1 3,400

18 | 9971146 [0V % 1 460[16 X 2
19 341349 |[AA)NFv v T 1 1,400

20 | 9970127 [—V T T vy — 1 410[10 X 13.5 X 1 DIN7603
21 | 9904306 |#AINT5H 1 450

22 252293 |[H8—t v b 1 14,200

23 | 9900313 [/SASUFHRIL B 2 230|M8 x 25
24 | 9921501 [RATVVFT v v— 2 190|M8

25 | 9900248 |75 IAARL 2 230|M4 x 12
26 | 9903348 |ZwV¥ il 8 140

27 252385 |[HA7 v b 1 1,400

28 | 9952875 |[avF Y — 1 17,500{90 u F
29 252434 |y 1 7,600

30 | 9900249 |75 UfSARL 4 230[M5 X 12
31 | 9953681 [EIHAA VT 1 31,500

32 252337 |avFr9— 1 17.500(50 u F
33 | 9950244 |[Z—3F)LT7uav” 1 990

34 | 9952685 |[a—RZS5VT 1 1,400

35 | 9952686 |[a— K752 T7F vk 1 280

36 252486 |EFEI—FR 1 16,000|3P X 4m
37 | 2231000 [0OA 7R T %Z— 1 2,700

39 | 9971536 |¥—VU V¥ 4 160

Ak - i - MR T ERKERT2ENHYET,

2

LC10021A

2024.02




A

WAGNER

F370

Wl - cAVI

o
VAAY

32 313029

[C10020C

2024.02

i A T ERKEE T DHERDHVET,

1k -



F370

A
WAGNER

1k -

i A T ERKEE T DHERDHVET,

POS RS EA S TEA ik
1 341241 | ATFRHRLAZ 1 18,700

2 341316 |FuTrsX— (1) 1,400

3 9971486 [0 V> (1) 3,400

4 340339 |[WMAOF2—7 1 1,400

5 252279 [NV NI 1 28,700

7 341336  |(ZU>7 1 620

8 341331 |[FIARF I p— (2) 550

9 2393043 | AFpEw b 1 12,600

11 9990865 |{RiEXr> 1 1,200

12 252296  [~AUBN—R 1 41,300

13 169248 V) —7/,3 L7 1 20,300

14 9971395 |0 Vv (1) 970[10 X 1.25
15 252289 |X¥ AT 772t vh 1 13,500

16 Ty — AP —L 1 HEFs A A]
17 3050916 |O VU2 1 1,900

18 1

19 252440 [E°ARY 1 10,400

20 T AR 1 A A A]
21 9922516 |[AF v AV 1 600[12 X 1

22 M OA-= 7L 1 A AN A]
23 3051678 |O U7 1 400

24 252316 |V —Fa2—7 1 600

25 252295 |[Hr gL Fa—TEvh 1 2,800

26 252294 | bha— g 1 16,000

27 9971365 |0 U7 (1) 380[9.25 X 1.78
28 10861 [V 1 410

29 10859 |ARy AU 1 800

30 10858 |77 1 280

31 341219 |z bo—n 7 1 3,600

32 FYL 1 A AN A]
35 341702 [HEH IR —E A vk 1 8,000

36 341347 2=V T Uy — (1) 1,400

37 341327  |H:HFRT—b (1) 4,600

38 9941501 |fpAR—/L (1) 2,700 ¢ 11

39 253405 (AT T HEIT (1) 490

40 341326 [HEHFRATV T (1) 820

41 9971470 |O U (1) 620

42 341328 |7 (1) 620

43 252469 |V HAR 1 8,100

252470 |[AhwsS— (1) 2,500

44 9970103 |2 —VU> 7Ty p— 1 460[14 X 18 X 1.5
45 0047432 | R—A 74T 427 1 5,500[NPS1/4 X M16
46 9900217 |/SHAR/LE 4 620[M12 X 60
47 9920134 |T>i v — Al2 4 130

48 9906035 |7<A XAV 2 530[M12 X 50
49 9920204 |Tviy— 2 240

4 1.C10020C

2024.02



F370

A
WAGNER

ka1 — (P/N 252292)

IC10022A
POS rin 7 fi B | EAM (i

1| 9994961 |#AF 2 2,600

2 | 9994950 | 7F vy 2 690

3 2 HeAa A Al

4 | 9990861 |77 2 240

5 9990866 =L 2 620

LC10022A
5

Ik - S0 - RIS T ERKEE T2 HRHVET, 2024.02



A
F370 WAGNER

Hoavteyk (EHVLEY)

ID10000A

6
Ak - i - MR T ERKERT2ENHYET, 2024.02



F370 A
WAGNER
POS o B Yo | @Al ik
1 2230341 | AR —A &k 1 19,400 ¢ 25 X 800 BH L &>
2 | 2230343 |UH—1iR—RA Tk 1 10,300{ ¢ 12 X 800 BHL &>
3 | 2230342 [FAIT 4N —F VR 1 7,800/ ¢ 100
4 34602 | A=vT7 )L (1) 1,800
5 253426 |=ArF b (1) 1,800
6 | 2240083 |AR—ANR -35 2) 660[25 ~ 35
7 | 2240343 |H—KRFYLT (1) 2,800
8 | 2240078 |[ATVL T HR—A (1) 15,500 ¢ 25 X 800 1% ]
9 | 2240344 W AAT (1) 8,100
10 | 2241111 VH—rh—2H=v7 L (1) 940
11 | 2240018 (V& —rR—AHARMAF vk (1) 2,700
12 | 2240022 |[AR—ANLR 20 2) 780[13 ~ 22
13 | 2240071 [RFVL 7 HR—A (1) 6,100{ ¢ 12 X 800 FEHH7L &>
14 | 2240349 |VX—1 34~ (1) 3,100
15 | 2240345 |[7ANHRT 4 T (1) 9,800| ¢ 100
16-1 | 2240346 |74/L%— (1) 2,800[0.8 mm ¢ 100
16-2 | 2240355 |[74/L%— 2,900[0.4 mm ¢ 100
17 | 2240347 (AU TV (1) 2,100

Ak - i - MR T ERKERT2ENHYET,

7

F suction

2024.02



A
F370 WARGNER

Hoiarvtyk (F370 SO - O L)

S)

R <§ :

L F370 SO B4R
<
&

s 2
- |

F370 SO AR OV a i@ TT R, TEHZ I, ®,. OLHAELTBYET,

F370 SO

8
AR « i - MRS T ERKEET2HR/HVET, 2024.02



A
F370 WAGNER

POS T B g | el ik
@ 34630 |[Yriartvb 1 40,200|F370 SO FE (4%
© 34607 | AFB—A vk (1) 28,700| ¢ 25 X 1000 H
® 34633 |[UF—rk—RAEoh (1) 10,100
® 36580 |74/ E—T vk (1) 11,600
-1 36581 |ZANH—FR—LA 6,000
-2 36586 | 7Aq/LH— 4,200/0.8mm
-3 36582 |74/ HA—R—2 3,600
® 2230341 | AR—A Bk 19,400[ ¢ 25 X 800 FHHHIL- &>
-1 34602 | A=vT7)L 1,800
-2 253426 |=F>F vk 1,800
-3 2240083 |7R— AR -35 660[25 ~ 35
—4 2240343 |H—KATV T 2,800
-5 2240078 | ATV T AHR—A 15,500 ¢ 25 X 800 % HH
-6 2240344 | A AT 8,100
® 2230343 |VZ—rR—ZtE vk 10,300{ ¢ 12 X 800 BRI L &>
-1 2241111 V& —rFh—A =71 940
-2 2240018 (VX —rh—2AfANfF vk 2,700
-3 2240022 |R—ARUR -20 780|13 ~ 22
—4 2240071 | ATV HR—A 6,100{ ¢ 12 X 800 BAIL- 2>
-5 2240349 VX —1 AT 3,100
@ 2230342 |7 AT 4NHE—F bk 7,800| ¢ 100
-1 2240345 |7ANERT 4 T 9,800 ¢ 100
-2 2240346 |7 4/LH2— 2,800[0.8 mm ¢ 100
2240355 |7 4/LH2— 2,900[0.4 mm ¢ 100
-3 2240347 | ATV YT 2,100

F370 SO suction

9
AR « i - MRS T ERKEET2HR/HVET, 2024.02



